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I. RSXH 12,630,150
(1) Sxpxpat 12,630,150
1 HFosZ XAt 9,861,355
B ] 2,413,968
3. 0|¢= 336,449
e i=1 (4,380)
4 MgHIE 17,445
5. 7| HOIM KA 5,313
O. H| S XAt 6,137,681
(1) EXpXpAL 348,000
LAISBAME 348,000
(2) FEXA 1,249,434
1L HIHE 692,209
L7 A2 A (292,902)
2. AXANEE 1,543,458
L7 A2 A (693,331)
(3) 7|EHH| R S X4k 4,540,247
L o100l = 15,333
2. AKX EZF 4,524,914
3. O| A QI M| RtA -
ot EAH 18,767,831

2 X
I.RS%N 12,289,014
1Loxsa 1,997,827
2. O/ X|ZH& 1,089,307
3. Ol= 103,089
4. Of|=2 7t 1,191
5. CHo|xtel= 9,097,600
O. HRSEXH 1,765,380
1L XSy 949,418
2. Z7\A = -
3. St=S 2R 37,428
4 SLBEEXY 778,534
21 A 14,054,394
e -
I.x28 3,355,400
LS 3,355,400
O. 2oz 13,373,570
1 AR 13,373,570
I Z2&3 (12,015,533)
10N T (12,015,533)
L | 4,713,437
| 18,767,831
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